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 The balance of power between the two is  

 

• The drawbacks of the Indian Parliamentary system the 

possibility of a hung Parliament remains . 

• The reason is to have multi-party system in India 

Times in which no party gets a clear majority . It is 

also called the political instability . 

 

Due to the adoption of a parliamentary system in India :- 

 

• If the lime directly to the President, he becomes very 

powerful and he can become autocratic dictator or . 

 

• In a large country like India, the direct election of the 

president will create enough chaos . 

 

• Indian politicians had more experience of the British 

political system and that they were impressed  

 

• The system has been successful in difficult times and 

there is no harm in it . 



 

 

The age and tenure for president: 

Minimum & 2370 presidential contest, the minimum age 

should be 35 years and elected a president's term is 5 

years . Any former president re-election is . 

 

President of the impeachment process: 

 

• President gets impeached him for his removal from 

office, it is then a violation of the Constitution that the 

President On the impeachment of the President of 

either House of Parliament, whether it can be 

presented to the Lok Sabha or Rajya Sabha .  

• More than two-thirds majority in the House the 

proposal to require More than two-thirds majority in 

the House if the proposal is received by the House on 

the other charges made against him are checked .  

• the other two-thirds majority in the House accepted 

the charges against him are checked .  

• the other two-thirds majority in the House accepted 

the charges if the President your post will shrink . 

• So far, any president has not been impeached  

 


